4/27/2018 Altrad Belle :: Belle Spare Parts : Minimix 150 - Gearbox Assembly (From Oct 04)

We use cookies to ensure that we give you the best experience on our website, If you continue we'll assume that you are happy to receive all cookies on our website.

For more information about our cookie policy please clickhere =~

¥ Powered by Gowgle Translate

BELLE
LIGHT No Of Items: 0
CONSTRUCTION i
EQUIPMENT Total: €0.00
No.1for Spare Parts (owbos ) [ recont )
Home Spare Parts Product Info Contact Us Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > Gearﬁéihmmbty'(ﬁup_m Oct 04) o o v
Gearbox Assembly (From Oct 04)
My Account 4 |
Login
1 My Account
i Support
My Basket e
Quickview
No of items 0
Total €0.00

1 StockCaody Pescription

1  so037602 II’ Gearbox Case Mach'd Oct 04> €24.14 1 || 0
2 wmso El Minl Wormwheel Drumshaft €40.00 1 1 o
3 soo3re0t Shaft Worm Minl Gbox Oct 04> €15.08 1 [ 0
4 mswo Mini End Plate - Post 89 €8.50 1 1 o
5 msn @l Mini Gasket - Post 89 €0.54 1 1 o
6 cmswo Ball Race 6006 €3.59 2 1 o
7  sa003 Bearing Roller 6302 €2.46 1 1 o
8  smos2 |§[ Seal Oil 15 X 42.6 X 12/14.5 €1.37 1 [} 0
9 wms2z Circlip - Mini €0.57 1 I 0
10 ws13 'il Mini Ollite Bush 19 X 15 X 20 €1.23 1 1o
11 cmsn Oilseal - B407 €.77 1 1 o
12 78003 Screw Set M8 X 25 Sq Flow Bzp €0.38 5 1 o
13 wms12 Mini Filler Bung €1.38 1 1 o
14  sooi30000 Seabax Pulloy Kit €3.34 1 1 o
14 soo1s00 Soarbox Pulley Kt - 60z €4.24 1 I o
15 oo0mee1s o) Bolt Omegas4osmbo €2.94 1 1 o
15 9009926 Mixer Belt €2.98 1 [} 0

http://iwww.altrad-belle .com/index.php?p=parts&as=1

1/2



4/27/2018

For more information about our cookie policy |

‘Select Language

Altrad Belle :: Belle Spare Parts : Minimix 150 - Frame Assembly

We use cookies to ensure that we give you the best experience on our website. If you continue we'll

assume that you are happy to receive all cookies on our website.
please click here

) " Powered by Go gie Translate

BELLE
LIGHT No Of ltems: 0
CONSTRUCTION '
EQUIPMENT Total: €0.00
No.1 for Spare Parts [ «] &
Home Spare Parts Product Info Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > Frame Assembly v
Frame Assembly
A
My Account
Login
My Account
Support
My Basket ;; "l‘;)
e
Quickview
No of items 0
Total €0.00

Mini150 frame assembly

StochCode

1 900/24800 Main Frame W.a

2  cmsizsp R;;"n’;;fjp“"”

3  eonzee Wheel Dia 300 (25.5/60 Hub)

4 90037600 Doarbex Axsembly Wi Oc 4
4 sowsreo  [h] S ssneriiy i O
5  gooe9911 E Pressing Stand Clip

6 0011400 Retainer Wheel

T  7moss Lz_l Screw Flanged T-tite M8*12 Bzp
8 910005 Bolt - M10 X 45 Bzp

9  sr0009 E] Nut M10 Tri 5 (locking Nut)

10 soor30100 Motor Kit 230v 50hz Cee17
10 s00/30300 E Motor Kit 110v 50hz Cee17
10 90030500 Motor Kit 415v 50hz

10 so0/30200 4 Motor Kt 230v 50hz Cee7 Eurot
10 soor3os00 i Motor Kit 230v 50hz Austrailia
10 90035700 i Motor Assy 230v 50hz Cee7 E3
10 900132800 4 Motor Assy 115v-60hz Ui

1 0 900/36300 1st July89 On Honda Conversion

Honda

http:/fiwww.altrad-belle.com/index.php?p=parts&as=2

€143.87

€142.23

€11.69

€82.02

€82.02

€3.15

€0.79

€0.51

€0.34

€0.38

€139.10

€164,16

€126.90
€180.78
€177.86
€143.48
€193,54

€51213

[=]

o

1/2



4/27/2018 Altrad Belle :: Belle Spare Parts : Minimix 150 - Frame Assembly
0/38 Pre July Robin Conversion Gt €557.41 1 | W
4Q 900738200 Pro July vers [
Up To Jul 98
1st July 99 On Robin Conv Kit G -
10 soo/3s300 Robin €494.64 1 | 0 |l
From Jul '99 - -
11 wsoar Screw Set Flanged M8 X 20 Bzp €0.18 2 |:| 0 ]
11 7037 E‘ Screw Set Flanged M8 X 20 Bzp €0.18 2 1 o [
12 siso0? I:i' 1 NutLug M8 Rof Lugs085725td €0.57 2 1 o Il
13 soor7o00 @ 1 Stand Bottom L W.a. (2 Boss) €42.60 1 M 0 )
14 soor7100 1 stand Bottom Rh W.a. (1 Boss) €39.19 1 —1 o [
15 900126600 E Stand Adaptor W.a €10.18 1 I
16 3moor @ Clip Linch Pin €3.68 1 1 o |
17 soorzes008P Stand Kit €98.19 1 o O
18 20099921 EI ot e €1.m 1 1 o I
19 so00/21250 Iil # Decal Mir Rating 230v-50 Eurot €0.69 1 (I
19 soorz1251 1 Decal Mir Rating 230v-50 Euro2 €178 1 0 o O
19 soorz1252 4 Decal Motor Rating 230v 50hz €0.81 1 o0 [
19 soor21260 § Docal Mir Rating 110v-50 Eurat €0.87 1 M o
19 800121261 § Decal Mtr Rating 110v-50 Row POA 1
19 soor21280 § Decal Mir Rating 230v-60 Row POA 1
20 soo/90953 E| § Decal Branding Small €0.42 1 1 o0 [
2{ soo/e9ss2 E § Docal Branding Large €0.72 1 [
22 80099809 EI # Danger Zono Decal Universal €0.10 1 Ol e )
23 80021320 [=] & pecalHot Parts Eurot €0.47 1 o [0
Please note all prices exclude VAT
ALTRAD... BELLE... BAROMIX... FORT... UMEX... ATIKA...
ra T T7 T =
SR RGEELS
SRS B : s il
COMPACTING MIXING CONCRETING CUTTING BREAKING MOVING GENERATORS PRESSURE WASHERS  WHEELBARROWS
ALTRAD Belle reserves the right to aller delails and specifications without notice.
Site Map (Main | Spares) | Privacy Policy | Term & Conditions of Sale | Contact Us
http:/Awww.altrad-belle.com/index.php?p=parts&as=2 2/



4/27/2018 Altrad Belle :: Belle Spare Parts : Minimix 150 - Handle Assembly

We use cookies to ensure that we give you the best experience on our website. If you continue we'll assume that you are happy to receive all cookies on our website, X
For more information about our cookie policy please click here o

SelectLanguage v Powered by Go-gie Translate

BELLE
LIGHT No Of Items: 0
Egﬁ%ﬁéﬁpm‘ Total: €0.00
ALTRAD T “‘] L j _]
No.1 for Spare Parts | S —
Home Spare Parts Product Info Contact Us Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > | Handle Assembly o ) v
Handle Assembly
7N
My Account Lo
Login
My Account
Support
My Basket ¢ ;'m.:-‘
Quickview
No of items [}
Total €0.00
6"
®
7
i BlockCote Dosoription Prige
1 o009 g T €14.07 (1 i
4 . op Cover - Minimix 150 X 1 E 0 [
1  ooomee930 Top Cover-branded €13.49 1 R
2 90025000 Handles W.a €14.41 1 0 o
3 xs3s Handle Grip €1.21 2 o
4 900/99918 @ Top Cover Clamp €0.31 2 I_l 0 | """ |
5 o7 Scrow 5.5 X 25 Plasfast €0.16 2 L] o [
6 om0z Bolt M8 Special Domehead €0.64 2 ] 0 T
7 smont Nut - M8 Bzp €0.12 2 (1 o
8  eoo21300 E Top Cover Decal Universal €0.78 1 1 o
fety Tc e g
8  soo21302 E adon ety Top Carvae U €171 1 o 7
Decal Top Cover = —
9 0021343 Easyriy €1.24 1 [ 0 ]
10 0031700 Handle G.a. (minimix - Euro1) €28.14 1 1 0 Tl

Please note all prices exclude VAT

http://iwww.altrad-belle.com/index. php?p=parts&as=6 1/2



4/27/2018

We use cookies to ensure that we give you the best experience on our website. If you continue we
For more information about our cookie policy p

Altrad Belle :: Belle Spafe Parts : Minimix 150 - Motor Assembly (Up To April 02)

'll assume that you are happy to receive all cookies on our website.
lease click here

Select Language

¥ | Powered by Gocgie Translate

BELLE
Egﬁg CTION No Of Items: 0
TRUCTH )
EQUIPMENT Total: €0.00
No.1for Spare Parts [vioweastet ] [[onesiont ]
Home Spare Parts Product Info Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > | Motor Assembly (Up To April 02) v
Motor Assembly (Up To April 02)
N
My Account § L
Login
My Account
Support
My Basket @‘“"'1‘4
Quickview
No of items 0
Total €0.00

HStockTods

1 scososoo @
1 s00no0100
1  so037400

2 900/41201
3 ooomesns |
4  soomesor D
5  gooi1z03 E‘]
6  9o0/2e900
8  wsosr
9  wsne
10 soozsr02 Ol
10 scorz7402

11 90189015 |§_’
12 soo99909
13 90041204 IE]
14 sorre9te
15 700135 E]

http:ﬂwww.aItrad-beﬂe.oomﬁndex.php?p=parts&as=1 1

Motor Kit 110v 50hz Cee17

Motor Kit 230v 50hz Cee17

Kit Motor Assy 415v 50hz Bro1

Motor Housing

Seal Switch Housing

Seal Belt Guard

Cap Belt Cover

Electric Pulley Kit

Screw 5.5 X 25 Plasfast

Screw Set Flanged M8 X 20 Bzp

Screw M5x19 Lg Polymate

Switch Housing

Switch Housing - Ul

Shield Motor Cover Inner

Seal Switch Cover

Cap Switch Cover

Shield Motor Cover Outer

Capacitor 25uf
230volt

€164.16

€139.10

€61.28

€10.99

€1.29

€1.67

€3.41

€3.68

€0.16

€0.18

€0.16

€12.81

€31.79

€2.59

€1.38

€1.46

€13.45

€18.28

T

‘sagepay
PayPal

" I
VISA D’E&

12



YLITZUTS Allraa pele :: selle Spare Farts ; Minimix 1osu - motor HBSSmD]y (Vp 10 Apriiug)
7010136 Capacitor 110 Uf UI €14.70 1 I T ,

15 s O o0

16 90018100 IEI Cabla Extension 240v Nvr POA 1

17 70008 Serew 3.9 X 19 Shap Pozlpan €0.08 3 [l

18 9018921 Switch -230 Nvr €32.92 1 [

18 90199923 Switch Nvr 110v - 50hz €35.71 1 ("

18 soomesze Switch Nvr 415v - 50hz €35.28 1 ]

19 70009 Screw 3.5 X 0.5 Sfap Pozipan €0.08 2 ]

20 soorz8700 .E i Switch Assy 110v 50hz Cee17 €39.86 1 I____l

20 900129300 .i 1 Switch Assy 230v 50hz Cee17 €52.77 1 I

20 soozse00 Switch Assy 230v 50hz Cee? €60.94 1 ]

20 900128900 Switch Assy 230v 50hz Aust €74.95 1 (]

20 sooz0000 Switch Asay 415v 60hz 5 Pin €34.36 1 I

Please note all prices exclude VAT
ALTRAD... BAROMIX... FORT... LIMEX... ATIKA...
». ) - g o "'1 b
: 3[E5
i B . 4> X, ‘ s
COMPACTING MIXING CONCRETING CUTTING BREAKIN MOVING GENERATORS PRESSURE WASHERS  WHEELBARROWS
ALTRAD Balle roserves the right to aller detalls and specifications without notice.
Site Map (Main | Spares) | Privacy Policy | Term & Conditions of Sale | Contact Us
http://www.altrad-belle .com/index.php?p=parts&as=11



4/27/2018

Altrad Belle :: Belle Spare Parts : Minimix 150 - Gearbox As

the best experience on our website. If
: tion about our cookie pol

Select Language

e we'll assume that yo
icy please click here

_'!_'_‘ Powered by Go.gle Translate

sembly (Up To Oct 04)

u are happy to receive all cookies on our website,

BELLE
CONSTRUCTIO et 0
O UCTION )
EQUIPMENT Total: €0.00
No.1for Spare Parts
Home Spare Parts Product Info New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 » | Gearbox Assembly (Up To Oct 04) v
Gearbox Assembly (Up To Oct 04)
My Account 1 L
Login
1 My Account
:‘\ Support
My Basket t.;:m«"
Quickview
No of items 0
Total €0.00

27

900/37600
Ms09
900/24701
Ms10

1
2
3
4
5 wmsn
6
7
8
9

CMS10
PS013
CMS41
Ms22
10 wms13
11 cmsn
12 7003
13 wms12

14 90030000
14  so0n1600
15 soomss1s

15 9009926

nnnnlmm@n@@m@@mmm

Rescrintion

§  Goarbox Assembly Mini Oct 04
Mini Wormwheel Drumshaft
Mini Worm Shaft
Mini End Plate - Post 89
Mini Gasket - Post 89
Ball Race 6006
Ball Race 6004
Oilseal-20 X 42.5 X 10 (89-on)
Circlip - Mini
Mini Qilite Bush 19 X 15 X 20
Oilseal - B407
Screw Set M8 X 25 Sq Flow Bzp

Mini Filler Bung

Gearbox Pulley Kit
50 Hz

Gearbox Pulley Kit - 60hz
60 Hz

Belt Omega 540-5mb-9
50 Hz

Mixer Belt

http:IMww.altrad-belle.comﬁndex. pPhp?p=parts&as=10

€82.02

€40.00

€15.27

€8.50

€0.54

€3.59

€4.10

€233

€0.57

€1.23

€0.77

€0.38

€1.38

€3.84

€4.24

€294

€298

JuBpEEERaAnRE |

S[GIEIGIE

1/2



4/27/2018 Altrad Belle :: Belle Spare Parts : Minimix 150 - Motor Assembly (From April 02)

We use cookies to ensure that we give you the best experience on our website. If you continue we'll assume that you are happy to receive all cookies on our website.
For more information about our cookie policy please click here X |

‘SelectLanguage v Powered by Go e Translate

BELLE
%gr?gmucr 0 No Of Items: 0
ION )
EQUIPMENT Total: €0.00
No.1 for Spare Parts (bt | | Croon.T]
Home Spare Parts Product Info Contact Us Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > | Motor Assembly (From April 02) el v

Motor Assembly (From April 02)

T3 ; .
.(ﬂi\ \\W\ My Account 4 'L)
-~
T Login
My Account
Support
My Basket s
Quickview
No of items 0
Total €0.00

7] fitackCodn Dascription Prics Suggestod O

1  soo30300 @ N St U B €164.16 1 [
1 soonot00 Rhokor 08 20y S0 Caety €130.10 1 )
1  soo37400 R Moy 1By S0z Bt €61.28 1 i
2 soois1201 Motor Housing €10.99 1 I
3 soor99908 Seal Switch Housing €1.20 1 I
4  soomesor Seal Bolt Guard €1.67 1 ]
5 900141203 Cap Bolt Cover €3.41 1 ]
6 50020900 Electric Puley Kit €3.68 1 M
7 ws017 Sorew 5.5 X 25 Plasfast €0.16 5 I
8  wsoa @ Scrow Set Flanged M8 X 20 Bzp €0.18 4 )
9 7ot ot sty et POA 4

10  sou3ssso Now Use 800/51208 POA 1

10 900141202 El Switch Housing Gland + Tpo2 €5.20 1 ]
10 90041202 E] Switch Housing Gland + Tp02 €5.29 1 [
11 soissets |§| Shield Motor Caver Inner €2.59 1 [
12  soorgos0e Seal Switch Cover €1.38 1 [l
13  soord1204 l:.‘] Cap Switch Caver €1.46 1 M
14 90199918 Shield Motor Cover Outer €13.45 1 ]

http://www.altrad-belle.com/index.php?p=parts&as=12 112



4/27/2018 Altrad Belle :: Belle Spare Parts : Minimix 150 - Motor Assembly (From April 02)

15 700135 gg:oimr 25uf €18.28 1 e )
15 7om138 Chpaciir HOLEW €14.70 1 1 o
T e g o pon .
16 70179 gg\!‘? gﬁgdm - Uk 3 Pin Plug POA 1
16 710182 I i €142 1 ]
17 70008 Screw 3.9 X 19 Sftap Pozlpan €0.08 3 )
18 ocom1700 e TACH St 230V €29.86 1 i
18 9001800 =i e €27.42 1 J
18 soomseszs e €30.25 1 il
19 rnzse Wire Link €1.25 1 (]
20 74000 Scrow Polymate Dia 4.0 €0.31 2 ]
21 700198 E] Gasket Compact Switch Tpo2 €8.90 1 )
22 700194 Saicn Compact Z30v-E0t TpoZ €13.88 1 N
22 700202 Poch Compact 10w SOl Tpekt €19.32 1 Il
23 90034500 MU Uk e €53.26 1 )
23 soo0r33s00 St Sy 30 S (Pl €48.66 1 (C
23 900135100 E el Lol €34.90 1 (_l
23  o00/34800 ot €36.49 1 [l
23 900/29000 Sy ey A1Ey 0k 5 Pl €34.36 1 )
24 500134500 Swich Assy 110v S0tz Lk Spec €53.26 1 [l
24 900300 . Ty SanchoNz b Pl €48.66 1 ]
24 900135100 E P EoCanl €34.90 1 )
24 90034800 i €36.49 1 )
24 soos29000 el b €34.36 1 (]
25 soor3as00 E T LaASYINIOV.E0E U Spee €53.26 1 I
25 900/33800 S S e o0k L i €48.66 1 (]
25 900135100 E o upfhined e/ i €34.90 1 Cl
25  500/34800 Sy oy oonz At €36.49 1 )
25  900f29000 Shlch Aoy ATEy B0Ic 5 Fin €34.36 1 ]
26 900199946 Fan Spares Minl 150 Motor €1.52 1 [
27 700247 |E| ol Sopaad €18.54 1 |:|
27 o252 l§| ek B 11l {Diomew I ) €19.20 1 )
27 ooore9028 ST IVE 230V - Bt €30.25 1 [l
Please note all prices exclude VAT
ALTRAD... BELLE.. BAROMIX... - FORT... LIMEX... ATIKA...
. ? : @l : | [ :
I3 W RS & @R T e
COMPACTING MIXING CONCRETING CUTTING BREAKING MOVING GENERATORS PRESSURE WASHERS  WHEELBARROWS

ALTRAD Belle reserves the right to alter delails and specifications without notice.
Site Map (Main | Spares) | Privacy Policy | Term & Condilions of Sale | Contact Us




4/27/2018 Altrad Belle :: Belle Spare Parts : Minimix 150 - Motor Assembly (UL)

We use cookies to ensure that we give you the best experience on our website. If you continue we'll assume that you are happy to receive all cookies on our website. X
For more information about our cookie policy please click here T 5,

s

ctLanguage ¥ Powored by Go gic Translate

BELLE
LIGHT . No Of Items: 0
CONSTRUCTION )
EQUIPMENT Total: €0.00
No.1 for Spare Parts (s Bostet ] ([Shecieur )
4___7
Home Spare Parts Product Info Contact Us Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > | Motor Assembly (UL) » o -
Motor Assembly (UL)
—{ —#{ 1228001629 ——
._.._m%ﬂ..._._...._._u. .
- £ M £ >
y Account Ll
Login
My Account
Support
My Basket :‘“m*.‘
Quickview
No of items 0
Total €0.00

SookCode s

1  sooar3oo Kit Motor Assy 115v 60hz €122.22 1 i
2 900/27401 Motor Housing - Ul €16.00 1 ]l
3 90099908 Seal Switch Housing €1.29 1 il
4 90099907 D Seal Belt Guard €1.67 1 §:|
5  900/27403 Cap Belt Cover - Ul €141 1 ]
6 90020000 Electric Pulley Kit €3.68 1 Q:I
7  wsot7 Serew 5.5 X 25 Plasfast €0.16 5 |
8  wsoar Screw Set Flanged M8 X 20 Bzp €0.18 4 7
9 7sot6 st POA 4

10 s00r27402 Switch Housing - UI €31.79 1 il
11  oo01/90941 Shield Motor Cover Inner - Ul €7.32 1 [
12 90099909 Seal Switch Cover €1.38 1 ]l
13 90027408 Cover Switch Ul (manual Resat) €8.32 1 I
14 901199942 Shield Motor Cover Outer - Ul €18.16 1 7
15 70136 vl €14.70 1 l
16 900129600 Cable Glanded Us Plug (1500mm) €10.12 1 _":l
17 710008 Screw 3.9 X 19 Shap Pozipan €0.08 3 7
18 cwms27 White On/off 240v Switch €8.91 1 i:i
19 7ow1ss Green Switch ‘on’ €2.63 1 e':l

http:/fwww. altrad-belle.com/index.php?p=parts&as=13 1/2



4/27/2018

Altrad Belle ::

Belle Spare Parts : Minimix 150 - Motor Assembly (UL)

20 7on0157 Red Switch 'off €2.63 1 ]
21 7oi1s0 Spring €2.96 2 il
22 7010161 Switch Rubber Insert €1.33 2 ]
23 7ow1er Button Insert ( Ul ) €1.25 2 ]
24 700186 Switch Manual Reset €16.11 1 Il
25 oo00/3za00 Motor Assy 115v-60hz Ul €193.54 1 [l
26 90099924 Switch - Onfoff - Export Only POA 1
27 0027404 Cap Switch Cover - Ul €6.66 1 "l
28 900132900 Eﬂ Switch Assy 115v 80hz Ul €58.25 1 ]
28 90028800 Swiich Asay 110v 60hz Ul POA 1
29 sooese02 Decal Thermal Overload Reset €0.69 1 ]
30 ooo/e9947 Fan Minl 150 Ul Motor POA 1 Conlact Us
Undale All
Please note all prices exclude VAT
AUTRAD.. BAROMIX... g FORT... LIMEX... ATIKA...
7k SRR NS S
COMPACTING MIXING CONCRETING CUTTING BREAKING MOVING GENERATORS PRESSURE WASHERS  WHEELBARROWS

ALTRAD Belle reserves

the right to alter delails and specifications without notice.

Site Map (Main | Spares) | Privacy Palicy | Term & Conditions of Sale | Contact Us

http://www.altrad-belle.com/index.php?p=parts&as=13

Ay



4/27/2018

For more information about our cookie policy please click here S

! Sélé«_:ttti_anguééé '

¥ Powered by Go-gle Translate

Altrad Belle :: Belle Spare Parts : Minimix 150 - Honda Engines GX120

We use cookies to ensure that we give you the best experience on our website. If you continue we'

'll assume that you are happy to receive all cookies on our website,

BELLE
LIGHT No Of Items: 0
Eg&d?p‘lﬁg’g_?’imd Total; €0.00
No.1for Spare Parts ST N
Home Spare Parts Product Info Contact Us Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > | Honda Engines GX120 e B v
Honda Engines GX120
Honda GX120
o
My Account ¢ of
Login
My Account
é r Support
My Basket St
Quickview
No of items 0
Total €0.00

Engine Assembly (Honda GX120)

i G
1 20038 Engine Honda GX120 Ut1 Qx4 €488.80
2  900/99927 Belt Guard €9.41

3 90040400 IE Engine Deck Wa ( Vanguard ) €25.21
3 90014040062 Engine Deck Wa Green2 POA

4  s0031000 Engine Pulley Kit €10.40
5  4sooe el €0.16

6 wsoo3 Bolt - M8 X 35 Hts/bzp €0.20

7  wioooz Screw-10x3/8"self-tap Hex Bzp €0.02

8  sso0s IE' Nut M8 Nyioc Bzp €0.08

9 900199944 @ Plate Guard €1.53

9  soommenssc2 Plate Guard Green2 POA
10 90002 E Bolt - 516 X 5/8 Unf €0.25
11 210236 Exhaust Deflector €5.94
12 90099945 Boss Fixed Engine Rev €2.36
13 920002 Ol 500mi Bottle (10w 30) €7.55
14 soomeras On-off Decal Honda Engine €3.85
15 80021320 [=]  Deca Hot Parts Eurot €0.47

http:lfwww.altrad-bello.oomflndex.php?p=parts&as=757

12



4/27/2018

Fo

Altrad Belle :: Belle Spare Parts : Minimix 1 50 -

ntinue we'll assume that yol
Policy please click here

v '; Powered by Gocgle Translate

We use cookies to ensure that we give you the best experience on our website. If you
e rmation about our cooki

‘Select Language

Honda Engines G100 & GXH50
U are happy to receive all cookies on our website,

BELLE
LIGHT No Of Items:
CONSTRUCTION i
EQUIPMENT Total:
No.1 for Spare Parts
Home Spare Parts Product Info Contact Us Help New Account My Account
Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > Z"Honda_a_Engl_i\aa G100&GXHs0 ) v
Honda Engines G100 & GXH50
My Account 1 ‘L}
Honda G100 Honda GXHso s
Login
__ 14 &) .14 15 My Account
: Support
My Basket T
Quickview
No of items 0
Total €0.00

§o)

Engine Assembly (Honda G100 & GXH50)

4] SteckCody Bascription

1 Ms15 Mini Honda Petrol Engine

2  so00m9927 Belt Guard

3 svomazoo Engine Deck Wa (honda)

4 900/36400 Kit Honda GXh50 Engine Pulley
5  ooo3z600 g; Engine Pulley Kit (honda)

6 7/8008 Screw Set M8x16mm Hts Bzp
7 710002 Scrow-10x3/8"sel-tap Hex Bzp
8 8/8001 Nut - M8 Bzp

9 200037 Engine Honda GXh50u Qb4
10 soomoess Cover GXh50 Belt Guard

11 920019934 @ Plate Belt Guard

12 900135300 E Englne Deck Wa (honda Gxhs0)
13 716034 Screw Set M6 X 16 Flanged
14 92100002 Oil 500m! Bottie (10w 30)

15 soo21320 [=]  oscai ot Parts Eurot

15 80021323

15 80021322 E

http:llwww.aitrad-balle.comﬁndex.php?p=pads&as=?58

Hot Parts Decal Euro 3

Decal Hot Parts U

PoA
€9.41
€10.82
€6.25
€10.22
€0.10
€0.02
€0.12
€461.23
€s.28
€3.91
€12.65
€0.31
€7.55
€0.47
PaA

€111

112



4/27/2018

BELLE
UG;*;TRU B No Of tems: 0
ol 1 )
EQUIPMENT Total: €0.00
No.1 for Spare Parts
L.
Home Spare Parts Product Info {_:ontm_:l_ Us Help New Account My Account

Home > Mixing > Belle > Tip-Up Mixers > Minimix 150 > Befle Mixer Drum Raplacement for a Beile Mini 140 - 150 - Maxi Mixers v '
Belle Mixer Drum Replacement for a Belle Mini 140 - 150 - Maxi Mixers

My Account

My Basket G
—

Quickview

No of items 0

Total €0.00

ey

%

Belle mixer drum replacement - Genuine - Mini 140 — 150 — Maxi mixers concrete drum. #Extra thick drum with quick mix paddies #Reinforced
Drum Mouth #Will fit all Pre 1999 Mini 140/150's, the current Mini mixer 150 and the Maxi 140.

) StockGode Bescription Price

Drum Spares — S
1 cmsizsp T Vit il Pro 1800 Mins 1407150°s, the current Mini mixer 150 and the €142.23 1 10 | |
Maxi 140 7 2S5

Please note all prices exclude VAT

BAROMIX... ATIKA..
“ @& e
‘ T el ! A3 &
COMPACTING MIXING CONCRETING CUTTING BREAKING MOVING GENERATORS WHEELBARROWS

ALTRAD Belle reserves the right to alter details and specifications without notice.
Site Map (Main | Spares) | Privacy Policy | Term & Conditions of Sala i Contact Us

http:ﬂwww.altrad—belle.comﬁndex. Php?p=parts&as=1171 7



